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Rela­«o do a­o

P15 P16 P17

V1 V2 V3

A¢O N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 36 128 4608

2 5.0 35 140 4900

3 5.0 35 49 1715

4 5.0 35 45 1575

5 5.0 35 98 3430

6 5.0 2 268 536

7 5.0 4 238 952

8 5.0 2 275 550

9 5.0 152 128 19456

10 5.0 2 288 576

11 5.0 2 230 460

12 5.0 25 68 1700

CA50 13 10.0 12 412 4944

14 10.0 4 1140 4560

15 10.0 4 575 2300

16 10.0 4 190 760

17 10.0 6 340 2040

18 10.0 2 195 390

19 10.0 2 320 640

20 10.0 2 240 480

21 10.0 2 734 1468

22 10.0 2 789 1578

23 10.0 20 111 2220

24 12.5 4 422 1688

Resumo do a­o

A¢O DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

5.0

213.8

16.9

404.6

145

17.9

68.6

PESO TOTAL

CA50

CA60

162.9

68.6

Vol. de concreto total (C-25) = 4.89 mį

Ćrea de forma total = 69.45 mĮ


